
1

3
2

14

4

5

13

6

7
9

11
10

9
11

11

7

12

4

12
11

Instructions: Bolt the Dual-Cool name plate to the Harley
horn mount bracket or the Vibration Tamer kit 

VIBRATION MODERATOR
8

ITEM NO.

1
2

3

4
5
6
7
8

9
10
11

12
13
14

DESCRIPTION

5/16" Chrome Acorn Nut
5/16" CHROME Split Lock Washer

5/16" Chrome Flat Washer

Rubber disc 1/4" X 1.5"
Stainless Steel (polished) cover

Stainless Steel (not polished) bracket
New rubber vibration isolators

Love Jug's Stainless Steel Name Plate Bracket

5/16" -18 X 1" Hex Bolt Head
5/16" Flat Washer

5/16" Split Lock Washer

5/16" -18 Hex Nut
Strengthener Bracket (from cooling system)
Your Existing Harley Chrome Horn Bracket

QTY.

3
3

3

2
1
1
2
1

2
1
4

2
0
0


